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IMacnopT ¢oHIa OLIEHOYHBIX CPEACTB M0 Y4eOHOM TN CIUIIINHE

1. B pe3ynbraTe M3yueHUs AUCHUIUIMHBI «JIMHTBOCTpaHOBEAEHUE HA MEPBOM HHOCTPAHHOM

(aHTTTUHCKOM) SI3BIKE» 00YUaAIOIIUNUCS TOJDKEH:

3Hnamb: OCHOBHBIE HCTOPUYECKUE COOBITUS U HALIMOHATBHYIO CIICLU(PHUKY H3y4aeMOU KyJIbTYphI 1

MEXKYJbTYpPHBIE CBSI3U;

Ymems: paccmarpuBaTh KyJIbTYPHBIH MPOLIECC B MCTOPHMYECKOM KOHTEKCTE 3IOXHU; OBIAICTH

HaBbIKAMU BEJCHMSI JHUCKYCCHM IO TMpoOieMaM JTUCHUIUIMHBI, 3aTpardBarolIviics B

TEOPETUYECKON YaCTH Kypca; YMETh MOIh30BATHCS CIIPABOYHON (IHIUKIIOTICIUSIMHU, CIIOBAPSIMH,

OoubmuorpaguueckuMy CIIpaBOYHUKAMHU) U KPUTUUECKOU JIUTEpaTypol; yMeTh B YCTHOU (opme

OTBETHUTH HA KOHTPOJILHBIE BOMIPOCHI 11O KYPCY;

Braoemwy: HaBblkaMM BEIEHHUS JUCKYCCHU 10 TpodieMaM JUCHUIUIMHBI;

pedepupoBaHus 1 KOHCIIEKTUPOBAHUS KPUTHIECKON JIUTEPATYPHI.

2. B pe3ynbrate n3ydeHus AUCUMILTUHBI «lcTOpUs U KylIbTypa CTpaHbl IEPBOr0 HHOCTPAHHOTO

(aHrIHIACKOTO)  sI3BIKa» Y OOYyYaromMXCs JOJDKHBI OBITh  COPMHUPOBAHBI  CIIEAYIOLIUE

KOMIIETCHIINH:

Kareropus
(rpyma)

KOMIeTeH U’
Oowenpogpeccuonanvnovie KOMnemeHyuu U UHOUKAMOPbL UX OOCHIUNCCHUA

OIIK-4 NI-1 onk-a

NJ-2 onk-4

WJI-3 onk-4

W/1-4 onk-4

Ynueepcanvnvie komnemenyuu

WI-1 yka

W-2 yka

NJ-3 yk-1

NI-4 yka

WJ-5 yka

NI-6 vk-1

HaBbIKaMH

Kon u HauMeHOBaHHe HHIHKATOPA

Kon n HaumenoBanme
JOCTHKEHUS] KOMITeTeHIIHH

3. IlporpaMma olieHMBaHUS KOHTPOJIUPYEMOH KOMITETEHIINN:

3 cemecTp
Tekymas Kontpomupyemsie Kon HanmenoBanue
arrecraums MOJTyJH, pa3zieibl (TeMbl) | KOHTPOJIMPYEMOH | OLIEHOYHOI'O Cpe/ICTBA
JTUCIUTITUHBI U UX KOMITETCHITH
HaVMEHOBAaHHUE (uu ee yacTH)
1 Pasnen 1. History of GB | YK-1, OIIK-4 KonTponbHas padbota
Nel
2 Pasnen 2. UK today YK-1, OIIK-4 KonrpomnbHast pabora
Ne 2
IIpome:xkyTouyHast arTecTanus Kon HanmenoBanue
KOHTPOJIMPYEMOH | OLIEHOYHOI'O
KOMIIETEHIIUH cpencrpa**
(u1u ee yacTH)
1 VK-1, OIIK-4 JIOKJIaJ, COOOIIICHHE
HToromsas arrecranus VK-1, OIIK-4 JK3aMeH




IoCyJAPCTBEHHOE OBPA30BATEJIbHOE YUYPEXJIEHUE
«I[TPUTHECTPOBCKHI TOCYJAPCTBEHHbI YHUBEPCHUTET YUM.T.I IIIEBYUEHKO»
dutonornyeckuii haKynbTeT
Kadenpa anrnmiickoii punonorun
KommiekT 3a1anmii 1y KOHTPOJIbLHOM padoThI
1o aucuuiuinae “JIMHrBocTpaHoBeeHNE HA IEPBOM MHOCTPAHHOM (aHTIIUHCKOM) SI3BIKE)
KonTpoabHas padora Nel

Tema UK history

Card 1
1.The Stuart dynasty (James I, Charles I)
2. The Wars of the Roses

Card 2
1. Elizabeth | Tudor
2. The British Empire

Card 3
1. The Roman invasion
2. Social situation in Britain in 19" century

Card 4
1. Engkish kings of the 11" and 12" centuries
2. World War Il

Card 5
1. Henry VIl Tudor
2. World War |

Card 6
1. The Vikings
2. lreland in 20" century

Card 7
1. Union Flag and its history
2. Hanover dynasty

Card 8
1. The ancient population of the British Isles
2. The Restoration

Card 9
1. The Anglo-Saxon invasion
2. Reforms of the 19" century

Card 10
1. Symbols and emblems of 4 nations
2. Oliver Cromwell

Card 11
1. The Norman Conquest
2. The Glorious Revolution



IoCyJAPCTBEHHOE OBPA30BATEJIbHOE YUYPEXJIEHUE
«I[TPUTHECTPOBCKHI TOCYJAPCTBEHHbI YHUBEPCHUTET YUM.T.I IIIEBYUEHKO»
dutonornyeckuii haKynbTeT
Kadenpa anrnmiickoii punonorun
KommiekT 3a1anmii 1y KOHTPOJIbLHOM padoThI
o AUCHUIUIMHE «JIMHTBOCTpaHOBEAECHUE HA IEPBOM MHOCTPAHHOM (QHTJIUHCKOM) SI3BIKE)
KonTpoabHas padora Ne2

Tema UK today

Card 1
1. The executive and judicial branches of power
2. Natural resources of GB

Card 2
1. School education on Britain
2. The executive branch of power

Card 3
1. Employment
2. Holidays in GB

Card 4
1. Catholicism in GB
2. Types of schools in GB

Card 5
1. International relations
2. The Tube

Card 6
1. Types of schools in Britain
2. Elections in GB

Card 7
1. Charities
2. Sportin GB

Card 8
1. Nonconformists in GB
2. Relations within the nation

Card 9
1. The National Health Service
2. Sportin GB

Card 10
1. The Church of England
2. Public transport

Card 11
1. The legislative branch of power
2. The media



Card 12
1. The benefits system on GB
2. The Parliament

Kputepun onenkn:

KoHnTposibHas paboTa OICHMBACTCS OTMETKAMHU: 2 — «HEYIOBJICTBOPUTEIBHO», 3 —
«YIOBIIETBOPUTEIHHOY, 4 — «XOPOIIO», 5 — KOTIIUIHOY.

OO01mmas oreHKa KOHTPOJIBHON padOThI CKJIAJABIBACTCS U3 CpeAHEAPU(PMETHICSCKON OIICHKU
3a JIBa BOTIPOCA C y4€TOM Ka4eCTBa BHITIOJTHEHUS paOOTHI.

YpoBeHb KavyecTBa MHUCHBMEHHON KOHTPOJIBHOW pabOThl 00YYAIOMIErocs ONpPEaCsIeTCs C
UCIIOJIb30BAHUEM TPATUIIMOHHOW CUCTEMBI OIICHOK.

Tunwer owubox:

1. HckaxxeHue — HICKa)KeHUE CMBICTIA, YIYIICHUE BaKHON HH(POPMAaLUH, TPUBHECEHUE
HEBEpHOW MHPOpMALIUY.
2. HetounocTp — ynymenue HecylecTBEHHON WH(pOpMaln, IPUBHECEHHUE JIMITHEH

UHpOpPMaLIMU, KOTOpasi He MPUBOJIUT K CYLIECTBEHHOMY MCKaKEHHUIO CMBbICIIA, HE COBCEM TOYHOE
TOJIKOBAHHE, KOTOPOE HE BEJIET K €r0 UCKAKEHMUIO.

3. Crunuctuueckas omuOKa — OTCTYIUIEHHE OT CTHIMCTUYECKMX HOPM SI3bIKA JJIS
JaHHOro cTuis peud (omMOOYHOE YNOTpeOJieHHe CHUHOHHMMOB, HAapylIEHHWE IPaBHI
COYETaeMOCTH ).

4. ['pammaTuyeckast ommoka.

5. Jlekcuyeckas ommuoOkKa.

Kpumepuu oyenku:

1. OTIMYHO — HET HMCKaKEHHH, He Ooyiee 3 HETOYHOCTEH MM CTHIMCTHYECKHX

OmrOOK U He OoJiee 2 JIGKCHKO-TPaMMAaTHYECKUX OIIMOOK IMPH MepecKa3e TEKCTa, YeTKas U MOJTHAS
apryMeHTanus, JIOTUYecKasi CBSI3HOCTh M3JIOKEHHUS, 0OOCHOBaHHBIC U Pa3BEPHYThIE OTBETHI Ha
BONIPOCHI TIPEIOaBaress, JEKCHYSCKH OOratoe W TIpaMMATUYECKH IPABUIBHOE, JIOTUIHOE
U3JIO)KEHUE TEeMbl, OTCYTCTBHE TIpaMMAaTHYECKUX U JIEKCHUECKUX OIIMOOK TMpU MEepeBoje
KapTOYKH.

2. Xoporio — He 6onee 1 uckaxeHus 1 3 HETOUHOCTEH WIIH CTHIIMCTUYECKUX OITUO0K
U He OoJiee 4 JIGKCHKO-TPaMMaTHIECKUX OIMNOOK, MTOCIIe0BaTeIbHAS apTyMEHTAIUS B CBI3HOCTh
U3NIOKEHUS, TMpaBWIbHbIE OTBETHI HA  BOMNPOCH  MpemojaBaTelNs, JOTUYHOCTh U
MOCJIEI0BATEIHbHOCTh MOHOJIOTMUECKOM peuH, JOMyCKaeTcsl Halauuue 2-3 He rpyObIX OmKOO0K npu
MEPEeBO/IE IEKCUKO-TPaMMaTHYEeCKON KapTOUKH.

3. YnoBAeTBOpUTEIBLHO - HE Oosiee 3 UCKAKEHHMHM W 5 HETOYHOCTEH WM
CTHJIUCTUYECKUX OIIMOOK, He Oojee 8 NEeKCHKO-TpaMMaTHYEeCKUX OIIMOOK, HalWuue CBA3HOU
apryMeHTaIlNY U aJICKBaTHOM PEaKIMK Ha BOIPOCHI MTPETIOIaBaTelis, HATMYHNE MHOKECTBA OIIIHOOK
B MOHOJIOTHYECKON peuH, CTYACHT CJIa00 OPUEHTUPYETCS B TPAMMATHUYECKUX SIBICHUSX.

4, HeynosnerBoputensHo - ©Oonee 3 UCKAKEHHMHM W 5 HETOYHOCTEH WM
CTHJIUCTUYECKUX OMMMOOK U Oojee 8 JIEKCMKO-TPAMMATUYECKUX OIIMOOK, HEMOHMMAaHHUE U
HeaJIeKBaTHAs Peakis Ha BOMPOCHI MPEMoaBaTelis, HAPYIICHUE CBSI3HOW apryMEHTAIUU TPU
W3NIO)KEHUU TOMHUKA, OOYYaloOUIUiiCsS HE CHOPAaBHUICA C IMEPEBOJIOM JIEKCHKO-TPaMMaTHYEeCKOU
KapTOUYKH

[Ipu BBISIBIECHUM 3a/aHWi, BBIMOJHEHHBIX HECAMOCTOSTENHHO, MPENOo/IaBaTelh BIPaBe
MIPOBECTH 3AIIUTy OOydYarOMUMUCS CBOMX paboT. Ilo pe3ynabTaTam 3amMTHl MperojaBaTellb
BBIHOCHUT pellleHre JU00 0 3a4eTe KOHTPOIBHOU paboThl, MO0 00 ee BO3BpaTe C M3MEHEHHEM
BapuaHTa. 3aluTa KOHTPOJIBHON pabOThl mpearnosiaraeT cBoOOOJHOE BIAJCHHE OOYYaIOIIUMCS
MaTepuaioM, U3J0KEHHBIM B padoTe.




IroCcy JAPCTBEHHOE OBEPA30OBATEJIbHOE YUPEX/IEHME
«[TPUJHECTPOBCKMI1 TOCYJAPCTBEHHbBI YHUBEPCUTET UM.T.I . IIIEBUEHKO»
dutonornyeckuii haKynbTeT
Kadenpa anrmmiickoit ¢punonoruu
Tembl D0KJIa00B
10 TUCUUIUIMHE «JIMHIBOCTpaHOBEEHUE Ha IEPBOM MHOCTPAHHOM (aHIJIMICKOM) S3BIKE»

England under foreign kings

English Speaking Countries

How Scotland fought for its independence

Theatre in Great Britain

Youth Movement in Great Britain and USA

A Brief History of Cambridge

A Brief History of Oxford city

Britain's Ecological Activity

Parliament. The Palace of Westminster.

. The Towns of Great Britain

. Unwritten Rules of Great Britain

. Ireland’s political and social history since 1850
. Winston Churchill

Kpurepun onenku noknana:

5 6aiioB CTaBHUTC:, B CJIydac €CJIM BBIIIOJHCHBI BCC Tpe60BaHI/I}I K HallTUCaHUIO U 3alllUTEC:
o0o3HavyeHa npobiema U 00OCHOBaHA €€ aKTyalbHOCTb, CAEJIAH KPAaTKUN aHAINU3 PA3IUYHBIX
TOYCK 3pCHHA Ha pacCMATPHUBACMYIO npo6neMy A JOTUYHO W3J0)KE€HA COOCTBEHHAs IIO3UIIMA,
c(OpMyJIMPOBAHBI BBIBOABI, TEMa PACKPHITA IIOJHOCTBHIO, BBIACPXKAH OOBEM, COOIIOICHBI
Tpe6OBaHI/I}I K BHCIIHEMY OQ)OpMHeHI/IIO, JaHbl IIPAaBHJIBHBIC OTBCTBI HaA JOIIOJHUTCIIBHBIC
BOIIPOCHI.

4 Gannaa — OCHOBHEIE Tpe60BaHI/I}I K JOKJIaay HJIA COO6I.I.I€HI/IIO N HUX 3alllMTC BBIIIOJIHCHBI,
HO IIpY 3TOM JOIYILIEHBI HETOYETHI.

B YaCTHOCTH, UMCIOTCA HCTOYHOCTHU B HU3JIOKCHHU MaTCpualia; OTCYTCTBYCT JIOTHYCCKaA
MOCJIEI0BATENbHOCT B CY)KJIEHUSX; HE BBIJIEpKaH 00bEM; UMEIOTCS YIyIIEHUs B 0)OpMIICHUH;
Ha JOMOJIHUTCIIbHBIC BOIIPOCHI ITPU 3aMUTEC JaHbI HCTIOJIHBIC OTBCTHI.

3 OGaia — UMEIOTCA CYIIECTBEHHBIE OTCTYIUICHUsI OT TpeOoBaHui. B wacTHOoCcTH: Tema
OCBCIICHA JIMIIb YaCTUYHO; JOITYIIICHBI (baKTI/I‘IeCKI/Ie OILINOKHU B COJCPIKaHNU UJIU ITPU OTBCTEC HA
JOMOJIHUTECIIBHBIC BOITPOCHI; BO BPEMS 3alIUTHI OTCYTCTBYCT BBIBO.

2 Oaiuta — TemMa He PAacCKpbITa, 06Hapy)KI/IBaeTC$I CYHICCTBCHHOC HCIIOHNUMAHNUC HpO6J’ICMI>I.

ROoo~NoGa~LNE
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MPUJTHECTPOBCKHUI FOCYHAPCTBEHHLIﬁ YHUBEPCUTET
9K3AMEHAIIMOHHbIA TECT
10 AUCUUIUINHE «JIMHIBOCTpaHOBEEHHUE HA IEPBOM MHOCTPAHHOM (QHIJIMHCKOM)

A3BIKE»

nanpaenenue «7.45.03.02 Jlunzeucmukay,

npodmm «Teopust 1 METoIMKa PENoIaBaHHsI HHOCTPAHHBIX S3BIKOB M KYJIbTYp (AHTIUHCKUNA 1

HEMEIKUHN S3bIKK)», Teopus 1 METOAMKA MPENoIaBaHusl HHOCTPAHHBIX SI3BIKOB U KYJIBTYP
(AHTIUICKUHI U QPAHITY3CKHH S3BIKN)

2 xypc, Punonorunyeckuii G-t

The British Isles comprise two big
islands and smaller ones.
a) 5,000; b) 3,000; c) over 5,000.

The Strait of Dover is part
of the English Channel.

a) the widest; b) a wide; c) the
narrowest.

The group of islands off the north-
western coast of Great Britain is
known as .

a) Channel Islands; b) the Hebrides;
c) the Isles of Scilly.

The Scottish Highlands are
separated into two parts by Glen
More, which is

a) the highest mountain;

b) a long crack in the earth’s crust;
c) the river.

The Cambrian Mountains are
described as

a) the most picturesque place in
Wales;

b) the highest mountains in Great
Britain;

c) Welsh Massif.

The largest river in Britain is

a) the TWeed b) the Thames; c) the
Severn.

St. George’s Channel separates
Ireland from
a) Scotland; b) Wales; c) England.

The Celts were the people

a) divided into some tribes;
b) who lived in one tribe;
¢) who settled beside the Picts.

The Anglo-French Channel Tunnel
unites the country with

a) France; b) Belgium; c¢) France
and Belgium.

The Romans took in the British
Isles because

a) they had no land to live on;

b) they had the same religious
beliefs and wanted to unite the
countries;

c) they tried to stop the help of the
Britons to the Gauls.

The rebellion headed by queen
Boadicea aimed at .

a) establishing new relations with
Romans;

b) expressing the Celts’ discontent;
c) establishing new towns and
settlements.

During the century between
Caesar’s expeditions and the
second coming of the legions the
Celts .

a) had no contacts with Rome;
b) paid a tribute to Rome;

c) strengthened the opposition
against the Romans.

The biggest lake in Britain is

a) Loch Ness;
b) Loch Neagh;
c¢) Lake Windermere.

No place in Britain is as much as

km from the sea coast line.

a) 120; b) 83; ¢) 100.

The first people inhabiting Great
Britain are known as Iberians
because

a) they came to Britain from the
Iberian Peninsula;

b) it was the name of their tribe;
¢) some of their descendants are
still found in the north of Spain.

The most civilized Celtic tribes
were

a) the Britons; b) the Scots; ¢) the
Picts.

In Celtic tribes women could

a) only give birth to children and
raise them;

b) cure the tribesmen;

c) become warriors and queens.

Where did the Teutonic tribes come
from?

a) From the territory of the present-
day Denmark.

b) From the territory of the present-
day Germany.

¢) From the territory of the present-
day Norway.

The Pental Firth separates Great
Britain from .

a) the Orkneys; b) the Hebrides; c)
the Shetland Islands.

In 55 B. C. Julius Caesar withdrew
from Britain because

a) local opposition was strong;

b) he disliked the climate;

c) his help was needed in Rome.

The inland water (rivers) comprises
per cent of the mainland.
a) 3;b)5;c) 1.

The Romans made Londinium their
capital because

a) it’s position was especially
favourable;

b) it had been well developed by
the Celts;

The Lake District is place
in the British Isles.

a) the driest; b) the sunniest; c) the
wettest.

The Romans withdrew in 407
because .

a) they were tired of the constant
attacks of the Celts;

b) they were ordered to do so by
the central government;




c) they had been ordered by the
Emperor.

¢) they wanted to conquer new
lands.

What does the word “Catholic”
mean?

a) Christian.

b) Cathedral.

c) Universal.

What was the economic unit of the
Anglo-Saxon society?

a) The village community
(township).

b) The family.

c) The hide.

are known to the French
as the Isles Normandes.
a) Isles of Scilly; b) Channel
Islands; c) Outer Hebrides.

The druids were very important for
the Celts, they .

a) foretold the future and settled
disputes;

b) chaired the most important
meetings;

c) lived in big groups and
worshipped one God.

What kingdom succeeded in the
unification of the country in the 9th
century?

a) SuSsex.

b) Wessex.

c¢) Northumbria.

What countries did the Danish
kingdom include under King
Canute?

a) Norway, Sweden and England.
b) Denmark, Norway and England.
¢) Denmark and England.

Where did the Danes settle in the
9th century?

a) In Northumbria and East Anglia.
b) In Essex and Northumbria.

¢) In Wessex and Mercia.

The leading industry in England in
the 16th century was

a) wool production; b) shipbuilding;
c) clothing industry.

The Romans introduced
Christianity, it was

a) a religion which was greatly
opposed by the Celts;

b) a step backward as compared to
the Druid religion;

¢) a step forward as new religion
brought literacy to the British Isles.

Anglesey is the island situated off
the north coast of .

a) Great Britain; b) England; c)
Wales.

Henry VIII struggled for the
independence from Rome with the
help of

a) his wives;

b) the Reformation Parliament;

¢) church leading officials.

The most important range of
mountains in England is ,itis
called “the backbone of England”.
a) Pennine; b) Cambrian; c)
Sperrin.

Edward VI was succeeded by
a) Mary Queen of Scots;

b) Mary Tudor;

c) Elizabeth Tudor.

The main idea of Puritanism was
a) new church service;

b) absolute church freedom;

¢) “pure” belief in Christ.

Mary Queen of Scots had more
rights to English throne than Queen
Elizabeth

as she

a) was the lawful daughter of
Henry VIII;

b) was the lawful sister of Henry
VIII;

¢) was the lawful cousin of Henry
VIII.

The Iberians were driven by the
Celts to

a) Wales and Scotland; b)
Cornwall; c) Isle of Man.

To the south of Pennines lie
, Which consist of river
valleys and plains.
a) Welsh Borderlands;
b) English Midlands;
¢) Southern Pennines.

The British Cetls lived in tribes and
were ruled by .
a) druids; b) chiefs; c) governors.

What was the structure of the
Anglo-Saxon society?

a) It was a tribal society with
matriarchate.

b) It was a community of equals.
c) It was a tribal society with the
family group as a basic unit.

Henry Il Plantagenet was the first
English king who .

a) knew Latin;

b) died peacefully;

¢) commanded greater wealth and
power on the Continent than in
Britain.

What did the “Danelaw” mean?

a) A law prohibiting Anglo-Saxon
settlements.

b) A peace treaty between the
Danes and Anglo-Saxons.

¢) The region settled by the Danes.

What was the main effect of
Christianity in Britain?

a) Revolts against the new church.
b) Literacy and peasants’
obedience.

c) Political dependence upon Rome.

The Romans erected Hadrian’s
Wall and Antonine’s Wall (Grime’s
Dyke) in

order

a) to maintain trade with Picts and
Scots;

b) to protect themselves from the
Celts;

Magna Carta contained the articles,
which prevented despotism in
King’s

power. It was basedon

a) the laws of the Anglo-Saxon
kings:

b) European law system;

¢) Church and state documents.




c) to mark the boundaries of
Empire.

What was Danegeld used for?

a) It was a heavy tax the Danes paid
to Anglo-Saxons.

b) The Anglo-Saxon kings gave the
Danes this money to prevent the
raids.

c) It was a tax to support peasants
in Denmark.

The Provisions of Oxford aimed at

a) controlling the supreme power;
b) establishing new positions for
ministers;

c) adding new articles to Magna
Carta.

Thomas Becket was murdered
because

a) he wanted to be the Pope of the
Roman Church;

b) he wanted to make the Church
stronger than the State;

¢) he had made a plot against Henry
1.

John the Lackland is famous for

a) having no land in possession;

b) selling English lands to
foreigners;

c) losing all English possessions in
France.

The Welsh rebellion in 1282 ended
with .

a) the victory of Prince Llewellyn;
b) the subjugation of Wales;

c) the introduction of round coins in
Wales.

When and by whom was
Christianity first brought to

Britain?

a) By Christian refugees from
Rome in the 3 century.

b) By monk Augustine at the end of
the 4™ century.

¢) By St. Patrick from Northern
Ireland.

Henry |1 restored the order in
England, as he

a) started new wars and won then;
b) destroyed castles and prohibited
private wars;

¢) introduced French laws in
England.

The Stone of Scone had been put in
the place of coronation of the
Scottish kings. When the English
took it, they .

a) put it in the museum as a symbol
of England’s desire to rule
Scotland;

b) designed it into the Coronation
Chair;

c) threw it away.

The first English Parliament was
the result of the war

a) between the nobles and
burgesses;

b) between England and France;
¢) between the nobles and the
Crown.

The Black Death had the following
effect at the development of
English

economy:

a) the lack of workers led to the
first organizations of workers —
Trade Unions;

b) the lack of workers led to the
great rise in wages;

c) the lack of workers led to the
first enclosures, which drove
peasants from

their lands.

Who were the Danes?
a. Danish nobility.

b. Scandinavian pirates.
c. Norwegian peasants.

The peasants led by Wat Tyler and
Jack Straw wanted

a) to rent the land at a fixed price
and be free;

b) to establish people’s power in
England,;

¢) to diminish the tax a little.

The druids believed in
a) one god; b) pagan gods; c) Jesus
Christ.

Henry IV was a King .
a) by heredity;

b) by conquest;

c) by conquest and election.

What dynasty did the Godwin
group represent?

a. Old Saxon dynasty.

b. Old Danish dynasty.

c. Old Celtic dynasty.

The Lancaster dynasty replaced the
Plantagenets because .

a) Richard Il Plantagenet as a cruel
and avaricious monarch was
betrayed by

his vassals;

b) Richard Il died heirless;

¢) Richard Il recognized lawful
rights of the Plantagenets.

The new Tudor monarchy was
supported by all layers of English
society, as .

a) Henry VII promised new lands to
his supporters;

b) the country was weakened by
dynastic wars;

c) Henry VII wanted to enlarge the
Parliament.

In 1420 by the Treaty of Troyes
English foreign policy had the
biggest triumph for the years of the
Hundred Year’s War —

a) The English King became King
of France;

b) English King became the regent
of France and heir of the King of
France;

¢) English Parliament could impose
taxes on French people.

Changes in judicial system made by
Henry VII :

a) changed the lives of ordinary
people;

The Hundred Years War between
England and France began when
a) France invaded England to
conquer it;

The main idea of Protestantism was

a) to get independence from Rome;
b) to make Church service simple;




b) restricted the power of barons;
c) introduced the main laws of the
English Constitution.

b) English King Edward I11 wanted
to restore his rights to the French
Crown,

which he had taken from his
mother;

¢) England wanted to stop French
support of Scotland.

c) to protest against Christian
religion.

The Wars of the Roses were

a) civil wars which completely
destroyed the country;

b) civil wars evoked by the wars
with France;

c) civil wars, which ruined only the
families of fighters.

Elizabeth | is called a Virgin Queen
because she

a) never married;

b) never agreed to marry;

c) never wanted to marry.

The Reformation changed the main
principles of church organization:
a) The English Church became the
Head of the Catholic Church;

b) The English monarch became
the Head of the Anglican Church;
¢) The Anglican Church became a
part of the Roman Catholic Church.

Mary Tudor was

a) a firm Catholic;
b) a firm Protestant;
c) firm Presbyterian.

The dominant country in Europe at
the beginning of the 16th century
was

a) France;

b) England,;

c) Spain.

The Stuarts replaced the Tudor
dynasty because

a) they were fighting for the
English Crown;

b) they were firm Protestants;

¢) this was the wish of Elizabeth I.

In the 17th century the main British
industries were

a) wool production;

b) soap production;

¢) woolen cloth production.

James | had many quarrels with the
English Parliament, because he
believed in the divine hereditary
right of the king. It meant that

a) the king should not consult
Parliament;

b) the king comes from God,;

¢) the king is God’s representative
on the Earth.

The Ordinances in 1313 made the
King .

a) consult the barons about the
beginning of the war;

b) diminish the taxes;

¢) choose the new ministers.

The 1381, Peasants’ rising began
with .

a) introduction of the poll-tax,
which was opposed by ordinary
people;

b) the start of a new war with
France;

c) the new sitting of Parliament.

The quarrels between Charles | and
Parliament began because

a) Parliament didn’t want to
recognize his divine right;

b) Charles needed money for pro-
Catholic policy;

c) Parliament was against his
marriage to Catholic princess.

James |1 alienated the Church and
universities. It means that he

a) prohibited the studying of
theology in universities;

b) did not allow monks to study at
universities;

¢) stopped supporting the Church
and universities.

The island got the name Great
Britain when

a) English and Scottish Parliament
united;

b) King James of Scotland became
King of England also;

c) people understood that it was
bigger than Brittany.

The two rivaling parties, who
fought for the English Crown
appeared in 1453 in England
because .

a) King Henry went mad;

b) they had equal rights for the
throne;

¢) King Henry died without heirs.

Short Parliament was dissolved by
Charles I because .

a) its members wanted to dismiss
the King;

b) its members spoke about the
King’s abuses;

¢) its members were Puritans.

Magna Carta marked the beginning
of the long struggle, which :

a) limited King’s power and
established constitutional monarchy
in Britain;

b) limited King’s power and
established the power of barons;

¢) limited King’s power and
established democracy in Britain.

The struggle between Charles I and
Parliament was

a) the struggle for absolute power in
Britain;

b) the struggle of the King against
greedy MPs;

c) the struggle of people against the
King’s despotic power.

The Habeas Corpus Act passed by
Parliament in 1679 was aimed at

a) giving more political rights for

common people;

b) restriction of the King’s power;
¢) safeguarding the interests of an
individual and protecting him from
the

King’s despotism.

James I’s foreign policy was a
failure because .

a) he tried to mediate between two
rivals — Protestants and Roman
Catholics, which was impossible;

Commonwealth was governed
a) by Cromwell;

b) by the Council of State;

c) by Parliament.

Henry IV continued the war with
France, which

a) successfully finished in his reign;
b) went on after his death;




b) his son’s marriage with the
Spanish princess was broken;
c) his son married the French
princess.

¢) brought England new great
victories.

The tradition of calling the first son
of the King “Prince of Wales”
began

when .

a) the prince of Wales became King
of England;

b) King Edward’s son conquered
Wales;

c) Edward showed to the Welsh his
son, who “was born in Wales and
didn’t

speak English”.

Henry VI1I1 had .
a) one wife;

b) seven wives;

C) Six wives.

Protestantism in England in the
17th century was one of the
greatest movements in Europe
because .

a) two Protestant countries —
England and Scotland united;

b) Puritans from European
countries immigrated to England;
¢) James | widely supported
Puritans.

The Protestant movements in the
16th century were spread

a) all over the world,;

b) only in England;

c) all over Europe.

The struggle between the King and
Parliament soon turned into

a) the struggle between north and
south of England;

b) the struggle between Cavaliers
and Roundheads;

c) the struggle between political
parties in Parliament.

The Wars of the Roses finished
when

a) the Lancasters and Yorkists
signed a peace treaty;

b) the Lancasters beat the Yorkists;
c¢) Lancasters’ Henry Tudor became
the King of England and married
Elisabeth of York.

Charles | was supported by English
and Scottish Presbyterians as he

a) promised to suppress other
Protestant sects in Britain;

b) promised to build new churches;
c) promised to make Presbyterian
leaders his ministers.

Henry 11 was deeply affected by the
death of Thomas Becket, so he

a) punished the people who had
murdered the Archbishop;

b) went to Becket’s grave to
express his sorrow about the
murder;

¢) made a monument to Thomas
Becket.

The Commonwealth was replaced
by the restored monarchy because

a) the King’s supporters killed
Cromwell;

b) there was nobody to rule the
country after Cromwell’s death;

¢) Cromwell’s son was unable to
maintain the system established by
his father.

James | was .

a) the first king of Scotland;

b) the first king of Great Britain;
c) the first king of England and
Scotland.

Britain managed to restore
economy after World War Il
because

a) many private industries were
nationalized;

b) many nationalized industries
were returned to private sector;

c) of the US Marshall Aid
Programme and enthusiasm of the
British.

Charles | was executed after .
a) the trial;

b) people’s protest against his
deeds;

¢) Parliamentary decision.

The Long Parliament was not
dissolved by Charles I because

a) it supported the King;

b) it took special measures which
did not allow the King to dissolve
Parliament;

C) it took all power in the kingdom.

The reason of Scottish rebellion in
1640 was .

a) the enforcement of the Anglican
Church in Scotland,;

b) the impoverishment of Scots;

¢) the enlargement of Scottish
taxes.

First representatives of the Tory
party were

a) supporters of the Presbyterian
church;

b) supporters of the royal power;
¢) supporters of Catholicism.

In the 18th century Britain carried a
series of wars against France

a) in Europe with different allies;
b) in various corners of the world
with different allies;

c) in American colonies.

The policy of Charles 11 was later
opposed by the English people
because

a) he supported Catholics;

b) he supported Presbyterians;

c) he supported the French.

As the result of Glorious
Revolution the power of the Crown

a) extended in all political and
economic spheres;

b) remained the same as before the
revolution;

¢) was limited by Parliament.

At first the representatives of the
Whig party were .
a) supporters of the power of

The first wars against France in the
18th century were called by the
English people “Marlborough’s

The Scottish rebelled against the
accession of George Hanover
because




Parliament;

b) representatives of the House of
Lords;

c) supporters of the royal power.

wars” because _.

a) the English wanted to conquer
Marlborough;

b) Marlborough was the general,
who won these wars;

c¢) Marlborough was the Prime
Minister of Great Britain at that
time.

a) they wanted to put the French
king on the English throne;

b) they did not want a German to
rule Scotland;

c) they wanted to restore an old
Scottish dynasty on the English
throne.

The Industrial Revolution made
Britain

a) an agricultural country; b) a sea
country; c) an urban country.

The American Revolution led to
a) complete loss of the British
colonies in North America;

b) partial loss of the British
colonies in North America;

c) establishment of new British
colonies.

The Gunpowder Plot was one of
numerous plots against James I,
which aimed at .

a) dethroning the King;

b) destroying Parliament;

¢) diminishing taxes.

The new Model Army headed by
Oliver Cromwell consisted of

a) well-trained Roundheads;

b) roundheads, peasants and
workmen;

¢) members of Long Parliament.

The most important battles for
Britain in World War | were __.

a) on the territory of Germany;

b) on the territory of Great Britain;
c) at sea.

The General Strike aimed at __.
a) improving the welfare system;
b) improving the system of
education;

¢) improving working conditions.

The beginning of the 18th century
in Britain is called by people
“Augustan Age”, because

a) at that period the English people
enjoyed the results of cultural and
economic development;

b) at that period King Augustan was
in power;

c) at that period Britain won
numerous battles under the
command of Augustan.

William of Orange was invited by
Parliament to accept the British
Crown because .

a) Parliament considered the deeds
of James Il inconsistent with
Protestant

England;

b) Parliament was afraid of new
taxes;

c) Parliament was afraid of the
Church and the Universities
alienation.

The first Labour government was
created asaresultof .

a) general economic decline;

b) changes in voting system;

¢) changes in the Royal family.

The Stuart monarchy was restored
in Britain with the help of

a) Richard Cromwell;

b) General Monk and his army;

c¢) The House of Lords.

William 111 was deeply involved in
British foreign policy as he

a) prepared a war with France;

b) allied with France against other
European countries;

c¢) fought against French aggression
promoting peace in Europe.

The period of Commonwealth was
marked by .

a) strict order in all spheres of
society’s life and Puritan morals;
b) mass executions of the King’s
supporters;

¢) Cromwell’s failure to rule the
country.

The Act of Union provided
important political regulations:

a) The English and Scottish judicial
systems were united;

b) The English and Scottish
Churches were united,;

¢) The English and Scottish
Parliaments were united.

Smuggling became a national
American employment at the end of
18th century because

a) legal import of goods was
unprofitable:

b) the trade between the American
Colonies and European continental
countries was banned;

¢) Americans didn’t want to buy
British goods.

The French Revolution made the
greatest influence in Britain on
a) Scotland; b) Ireland; ¢) Wales.

The system of parish workhouses
provided

a) jobs for all people;

b) poor people with food just
enough to survive;

c) jobs for priests.

The war with France at the end of
the 18th century at first was for
Britain

a) the war with Napoleon;

b) the war with the French king;
c) fighting against the French
republic.

The three alliances — NATO,
CENTO and SEATO were aimed at

a) providing new nuclear weapons;
b) establishing closer relations with
communist countries;

¢) encircling communist countries
to prevent further fighting.

The reign of Queen Victoria
changed the royal influence on the
government because

The wars with Napoleon were
successful for Britain as it .
a) got many strategic points, which

The struggle in Ireland in 1790’s
was the result of
a) anti-Catholic policy of the




a) the government was formed with
the Queen’s help;

b) the government was formed
without the Queen’s approval;

c) the government was formed by
the party, who won the elections
and the Queen approved the Prime
Minister.

gave access to many parts of the
world:

b) saved the country from economic
crisis;

c) decreased (lessened) the number
of voters.

British government;

b) pro-Catholic policy of the British
government;

¢) anti-Protestant policy of the
British government.

Today British colonial policy
changed because .

a) Britain has no colonies;

b) Britain again wants to gain new
colonies;

c) the remaining colonies spoil the
image of the democratic states and
require

the taxpayer money.

The War of the Spanish Succession
wasaimed at .

a) conquering Spain;

b) conquering the French and
Spanish colonies;

c) preserving important trading
routes.

Protection hampered the
development of British the
economy because

a) it gave way to British products
and reduced import;

b) it gave too much protection to
economy;

c) it protected free trade.

The international trade of the First
British Empire took the form of

a) acircle; b) aquadrant; c) a
triangle.

As the result of anti-British
rebellions in Ireland

a) the Irish got new rights;

b) the Irish became independent;
c) Irish Catholics lost their main
political rights.

The representative of the
Hanoverian dynasty, who showed
the biggest interest in British affairs
and caused the biggest trouble to
Britain was

a) George I;

b) George IT; ¢) George IlI.

After Napoleon was beaten at the
battle of Nations

a) he fled to Elba;

b) he continued the resistance until
the allies entered Paris;

c) he was banished to St. Helena.

The Cabinet government system
was exercised by Sir Robert
Walpole, who .

a) performed the main functions of
the Prime Minister;

b) named himself a Prime Minister;
c) was chosen by the King to rule
the country.

Queen Victoria became a symbol of
British success in the world as

she

a) was an emancipated woman;

b) was a religious hardworking
mother and devoted wife;

¢) was a unique political mediator.

Britain became a supreme
economic power in the second part
of the 19" century because:

a) free trade was prohibited;

b) all trading operations were
regulated by special rules;

c) government did not interfere into
private matters and trading
operations.

The period of extremism in British
life at the beginning of the 20th
century was expressed in

a) extremely cold weather;

b) activities of extremist group;

c) extremism in British foreign

policy.

Chartism was a movement, which
called for

a) mass demonstrations;

b) consolidation of Trade Unions;
¢) new rules in the election
procedure.

World War | was a result of

a) struggle for power in Europe;
b) struggle for power in Germany;
c) struggle for power in the world.

During the Victorian age living
conditions of common people
changed due to

a) foreign investments;

b) development of the Bank of
England;

c) increasing wealth and reforms.

For Britain World War | appeared
to be of great importance because
a) Britain tried to conquer
Germany;

b) the war was on the territory of
neighboring countries and
threatened Britain;

¢) Germany was an important
British market.

The end of World War | caused in
Britain .

a) general economic decline;

b) economic prosperity and growth;
c) growth of political parties.

Great tension in the relations with
Ireland appeared when .

a) the potato crop in Ireland failed;
b) Britain tried to get Irish potato
crop;

c) Britain tried to prevent Irish
immigrants from going to America.

The war with Japan ended for
Britain after

a) Soviet declaration of war with
Japan;

b) dropping of atomic bombs and
invasion into Manchuria;

¢) Britain had dropped atomic
bombs on Japan.

The alliance of Britain and
European countries was opposed by

a) Germany; b) Japan; c) the Axis.

The Labor party appeared as
a) a continuation of the Liberal
party;

b) a union of Liberals and

To subdue Britain Napoleon .
a) sent his troops to the islands;
b) defeated the Royal Fleet in
battle;




Conservatives;
c) a union of trade unionists and
intellectuals.

¢) imposed an economic blockade
on Britain.

The attitude of the British to their
monarch is different because .

a) they still can’t believe that
monarchs are ordinary people;

b) they see no need in monarchy;

c) they understand that monarchs
are human and want to preserve this
institution as a symbol of Great
Britain.

Britain was constantly losing her
power in the 1950’s because .
a) the Empire was diminishing;

b) she did not produce nuclear
weapons;

c) her actions were disapproved by
her allies.

Economic decline in the 1970’s
was caused by .

a) unwillingness of the British to
work;

b) decline in defense industry;
¢) floods of immigrants from
former colonies.

Two opposite alliances — NATO
and the Warsaw Pact were formed
after .

a) the Soviet Union tried to capture
West Berlin;

b) the Soviet Union didn’t want to
enter the UN;

c) Britain tested nuclear weapons.

The most severe political blow on
Great Britain after World War 11
was when .

a) the USA got the world
supremacy;

b) the USSR didn’t become her
ally;

c) the USA didn’t want to ally with
Britain.

The newly created League of
Nations aimed at

a) preserving cultural heritage of
different nations;

b) stopping the militarization of
different nations;

¢) stopping Nazism.
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